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BB (1) Question number | s compulsony. ‘-.'-‘
(2} Ateempt any Three guestions from remaiming, ,_1 33
|3} Assume suttsble data, 1F necessary. w;*'
|4} Draw sustable diagram wherever necessary _ﬂr;:"
1. Attempt any four sub questions - . 51
a.  Explain backup commands in Linux g 5
h. Describe role of intt signal o 5
¢. Explain pcrmissions on dircctory and files 3 5
d. Describe *AndrowManifest xml” file companents ey 5

2. a. Whatis dacman process. Name any 11'-.:!I.IHI:1WJ'TIT}I'DL-E‘-‘---:& Explain working 10

ol any two 1n details, K
b, What is:an Activity? How ig it created? Dra}ﬁﬁnd explain activity hife cycle. g
"-.
3. a. What 1s process? Mention briefly lh:,{:i“]t of fork-exec mechanism in fork 4
crestion

b. Explain with example usage of g:u_.'En' commands- grep, B, ¢at, fort, exporl. 19

-

4. 2. Explzin networking n:nmn"at;f.l}- nslookup, traceronte, lost, ping, itconfig, 10

h. What is data persistency rt:-ﬁ.ndr{m. i
'\."". '. .
5w Discuss significance oF given files- feto/passwd, fetedshadow, Jelc/graup,
fete/ashadow 10
. Draw hierarchical strocture of Linux File svstem ard explain ooy hive 1
directories.
6. o, Explainwvanous open spurce soflware hoenees: 10

b, Whatts shell pregrameming ? Write a shell script that will sequentally clzar 10
sereen, print enly name of current directory, display name of all currently
logped in users,
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Note : 1) Chuestion no. 1 is compulsory.
24 Selve any Thiree guestions ouat-of remaining Five questions.

4

el

b
£l
)

b

ity

Explam different types of iransparencies in distnbated databases,
What 18 o vesw? Discass the difference between a view and a hase relation,
Explan Factless Fact Table.

Lilustrate the concepts of embedded S0L,

LR Y T

—
—
=

List and zxplati the operations on Files, ]
Create an ER model for a Railway system with following constrainis: HU
) Stations =
i} Tracks, connecting stations. You can assume for simpii 'ﬁh;ﬂ anly one
track cxisls bobween any two stations, All the tracks pufdogether form a
graph, q@*
m) Traimms, with an [T} and a name {l},
iv) Train schedules recording what lime a train passes through each station
on its routs. You can assume for simplicity-that each train reaches its
destination on the same day, and that cve in rums every day. Also for
simplicity, assume that for each triin Iﬁ]ruach station on its route, you
store () timein, (b} time ot (same qs‘“‘hfn:: mif it doecs net step), and (o)
a scguence number so the qtannné_‘uf the route ot a tram can be crdered
by seauence number
vl Passengerboaking -:unqtsrmg,nfﬂram date, from-station, to-station, coach,
seatand passcnger name; f-;hlmphs,n}. don't bother o model passenpers
w3 -eniibies
Explain the Chject ..'}]L;u ase (oncepts with. I
1y Obgzet ideneity
11} Type constrictygns
i) Tupe Ilic:a:;]fgsﬁ and inherstance and
iv) Extents
Why i3 [huj_:'-.-"u.::t}'-:-:Iatiumhip modeling technigue not suitable Tor the data 10
'.1':3rf_|1..:|1_1'i_". How 1= dimensional modeling different? What are hierarchiés
pnd qlﬁurmn 25 ppplicable (o 2 dimension tahle?

[TURN OVER|
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Dezsign a schema m SQL for & Libeary Svstem. Show one example cach for
Primary Koy and Forgign Key conatiaint, Create one suitable ECA gxumple 1
entorce the Library constrainl.
Consider a data warehouse for a hospital, where there are three dimensions:
i} Doeeor, 5t} Patient and 511} Time and
twio measures 1) Count and 1) Cnarge
Using the phave example deseoine the following QLAP gperalitns
1} Raollop, 1) Drilldown 1) Shee 1v) Dice and v) Pivol '

titve three reasons why you think ETL lurctions are most {:hﬂilcngiﬂ“g a data

'Li"rlrt_tll'lIHJHL Cny I"'l_:l'l'lr'l"l'_"l_l £ j

Analvze the log after crash shown in Table-1 ﬂn-:[bru:!'[v:msweﬂ}i‘a following

questions: -—'?

1} What are the roles of the Anaitysis, Redo, and Undo Phas.ea i ARIES?

1) What 15 done during Analysis? {(Re precise ab he pomis w1 which
Analysis begins and ends and describe thc.,lkéﬁmanm ot any tables
constructed in this phase ) 2

i) What is done during Redo? (Be precise "lhllf[ﬂt the points at which Redo
beging and ends. ) r-

) What is done during Undao? (Be prcmsWEbnut the points at which Undo
beging and ends.) o

Teble 1 Log aftéfn crash

[0 |BEGIN CHECKPODRT

3 END CHEC KPDT&HTEMPT':’ HACT TABLE AND DPT)
1D _T] UFDATE I"'ﬁﬁlLﬂ ¥iY NEW: EEE,‘I '
BE -'Tl UPm_T;} P2 (OLD: WWW NEW “XXX)

24} S COMMIT

— — ——

With suitable r;!.'l't"-;ﬁ:l:ll schema pive at least two examples of Simple and
Mested Dueres:

Explain m shart the concerrency control in disinbuted databases.

Explain ﬂu-.r_ Hased Access Control for Multilevel Secunin

D‘E:Stnh-_, the following OQL concepls tany two):

1) Dv,_l.tﬂthlf-‘: enlry points,

iitath expressions,

Jm ) Iterator variables,

~iv) Named queries [views),

L

=
—

v} Aggregate functions; grouping, and quentifiers
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| Dwestion no. 1 is eompulsory

(2] Answer any four guestions from remaining $ix queostions.
(1)  Assumption to be made wherever applicable

1, (a)
i

(a)

(B}

(b)

(b}

5. (a)

(b

&, [al

(b

7. Write St o any four of the [llowin -

i,
(@)
_uh)

| F
. .:'_:'r (e
it )

I

[l

r\.\u_-

Draw gud expluin the block diagram of QPSK transmitter and rec r.;--..E-,
Explain-with the context of convergonce-of volce, data and imag: ;e i

-
=

Vi flexibla networks. o
.

i F
1
I_'

i %
Explait i detail the secarity managemant o 3G UMTS La{:»m ok
Explain the 1=sues n’r QUS and real ing applivation mlgﬁr'_-‘( IPasd
isternstworking and 1P sofiswitching.

e
-

ol
Explam the functional arcas and goalsol IrlruLilt_~'lE1ﬁirln.alrla:rl slanagenen|
Metwork (TN i’
Blerive anexpressinn of prabak iy :'T--:I'::w T-!-'K-? eaherently detectod B

Explim o deta:] about vanous sery ]Lu'.'i'U! confieclion arienten il
Consectionbess netwarks witk the Ir'?[* ot diagrani.

Expluin the voncept af tarspareagsourie rodic biadging in Etherne LAl
with an cxample, L3

=
I

[
[t

Explain the conc |r.:~.-rq|-1:jf::t|i~m complexily n various oelworks, & lso
disenss the addressing §.r..|:l"1ur., ulmiemel addressing o elesammoneeatn
network Sf:.{“
Explain the workims 0f DEPSK with av example mentioning peir of e
DoeATTInE 71 themsystein,

“
Cmpars 31hf|_:“]'-'1]11 various stennthog lechisguag: U B 1 B e B R |
with an eximply.
If.‘-:|1.15tﬂ'-;-.ll:|_m‘. Handoll wigerithms igowoeless netaorks,

ET

'h

" Logical Link Control {LLC) Lase
Hilucteoth teelinoiogy
CEMA 1 UMTS aepworse
Eiajtal SHanamyzind dimabeatifzul,

Floow gortiol s Cn.l_q.-.tl-..l" T b rea b
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B
N.B.:- (1} Question No. 1 is Compulsory. b

(2} Solve any three questions from the remaining five guestions, {F

(3) Figures to the right indicate full marks, N

{4) Assume suitable data where necessary. F

Nl
i,
b
)

l. (2} Ddefine Embedded System. Explain application areas of embedded system, m 5
(b} Explain the pin confguration of 3051 microcontroller. ICt;I:H 5

(¢} Compare AIMP, 3IMP, LIMP instructions of §051 =, 5

5

(d} Dxplain Real Times operating Systems and SoC in detail. éa"‘:'
b
1. ta) Explamn varion: Embedded microconteoller cores in detail, . 10
(b) Explain in detail ARM 7 pipelining J,Q.-?* 18

o
(&}  Write an asscubly lengeage pregram for 8051 Im-.m::uuu;r,;lI-r to find and count the 10
number of negative numbers from an armay of signed numb&mf

(P |
]

(b}  Explain the following SFR's of 8051; 10
SCON, TCON, TMOD, PCON r:,
4. (a) Explain addre-ssm,g. Modes of 8051 mmmcnnm:- FT 10

(b} Explain the following instructions with sunahgﬁ amples w.r.t ARM processor i
{1} BX 1;,.?‘
(i} TEQ 2
(i) BIC i

4 (ivi BEPT b?f:j

(v} STC Jo

L0
3. (8) What is Semaphore? E:-ipl.u'ﬂg-: use of semaphore with respect to embedded svstems. L]
(b) Explain the architecture uf%} 1 microcontroller. 10

B
=

B, Writs note on (amy tﬁ&?
{2) Automared mer:erwfﬂmg sVstom

(b) Digital clock as e Embedded system
(¢} BO3| Register Bank
(d) Serial Pﬂﬂgﬁmmmhun in 5051
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N.B.: (1) Question 1 is compulsory.
() Attempt any three from remaining Questions.
(3)  Assume suitable data wherever necessary.
{4) Figure in right mdicates marks,

[, (a) What are different application of computer graphics g w20
tb) Explain even odd method for inside test for polyeone __IGJ
(¢) Explain parallel and perspective projections h{:?'
(d) Vanous application of VR -0
&£
2, (4) Explain Cohen Sutherland line clipping algorithm with eiampll. 10
(b) Denve the DDAline drawing algorithm, Take _~,u1m;‘;z@exmnpjg and draw 10
a line between two points. R
b
3. (a) Wnite a short note on Homogeneous co- ofd}halu system, 1
(b} List various types of computing archlgb ures of VR and explain any 10
one m detail, .Q:"’

1. (a) Explain Flood Fill Algﬂrilhrrrlcpﬁ% ¢ B-connected approach. What are its 10
advanizgos over HUUJEEhi%H]l Algorithm?
(b) Denve the matrix for H@ﬁ’tiﬂn aoout an arbitrary poiat for 2D Rotation. 19
&

Let ABCD be '.hf.:‘g}‘ﬂanguhzr windows with AT20,20), BO90. 200, Ci90,70), 10
and D{20,70). {:’Eml region codes lor endpeints and use Cohen Sutherland
algorithm t:::FEhp the lines PIP2 with
Pl (10, :nfej) P2 (B0.90) and qlq? with gl{10.10),42(70,60)

el
Tl

(b) Expiain B spline curve 10
| )
o
6. ) ,-.Ifﬁ'mw that transformation matrix for reflection about line y=x 15 equivalent 10

- to reflection to X axis tollowed by eounter clockwise rotation of 90 depres,
o) Denve msthematical epresentation for Beziers curve and state their 1)

s
¢~ propery
v

=
*



